





HYDRAFACIAL

A unique, relaxing treatment designed to cleanse, exfoliate nourish and hydrate the face for healthier and youthful skin.

SIGNATURE HYDRAFACIAL | \$250

This refreshing treatment, deeply cleanses, exfoliates extracts and hydrates the skin.

Package of 3 | \$675

DELUXE HYDRAFACIAL | \$325

This rejuvenating treatment, deeply cleanses, exfoliates extracts and hydrates the skin. It concludes with the customized booster serum and LED therapy for the extra glow.

Package of 3 | \$875

PLATINUM HYDRAFACIAL | \$375

This revitalizing treatment begins with lymphatic drainage to sculpt and detox. It deeply cleanses, exfoliates, extracts, and hydrates the skin and concludes with a customized booster.

Package of 3 | \$1125

AQUA GOLD FACIAL | \$1000

Microneedling the full face and applying a customized cocktail of Botox, Hyaluronic serum and/or Vitamin C high with an option of add-on PRP. Recommended 3 to 4 treatments spaced 3 to 4 weeks apart.

Package of 2 | \$1700

Package of 3 | \$2400

Package of 4 | \$3100

AQUA GOLD FACIAL WITH PRP | \$1200

Package of 2 | \$2200

Package of 3 | \$3000

Package of 4 | \$3800

★ BOOST YOUR FACIAL WITH AN ADD-ON:

Dermaplaning | \$85

Mask | \$50

Wet Diamond Abrasion for Hydrafacial | \$50

DERMAPLANING | \$199

A gentle scraping of the surface of your skin with a surgical scalpel to remove the top layer of dead skin and peach fuzz.

Package of 3 | \$525

VI CHEMICAL PEEL | \$350

A chemical solution is applied to the skin that causes it to exfoliate and eventually peel off to create a new, regenerated skin that is smoother and less wrinkled than the old skin. Original peel for tone and texture.

Package of 3 | \$900

ADVANCED PEEL FOR COLLAGEN | \$420

Package of 3 | \$1000

MICRODERMABRASION | \$250

Using minimally abrasive instrument to gently sand skin, removing thicker, uneven outer layer and treating light scarring, discoloration, sun damage and stretch marks.

Package of 3 | \$650

MICRONEEDLING | \$550

Helps stimulate collagen production, tighten skin, minimize pore size, improve skin texture and tone, diminish scarring, and improves appearance of fine lines and wrinkles.

Package of 3 | \$1500

EVOLVETYSONS.COM

FIRE AND ICE FACIAL | \$225

Clinical treatment consists of two masks. First one aims to smooth out and resurface your skin through heat, while the other one hydrates it and nurtures it by cooling. The skin gets a glowing and refreshed outlook.

EVOLVE SIGNATURE FACIAL

Customizable facial cleanses, hydrates, and nourishes skin to improve overall skin health and elasticity.

90 Minutes | \$310

75 Minutes | \$275

60 Minutes | \$240

Brows & Lashes

BROW SHAPING | \$25

Be fuzz free by removing the unwanted hair from your eyebrows with our custom shaping session.

LAMINATION

An innovative procedure with which you can give your eyebrows and/or lashes a thick and well-groomed look.

Brows | \$100

Lashes | \$150

BROW MAKEOVER | \$150

Package includes lamination, tint, and shaping.

Injectables / Neuromodulators

BOTOX, JEUVEAU, XEOMIN

Reduce the appearance of fine lines and wrinkles

Botox | 3 Areas | \$849 Jeuveau, Xeomin | 3 Areas | \$757

DERMAL FILLERS | \$850 per syringe

Hyaluronic Acid gel-like substance used to restore lost volume, smooth lines, soften creases, or enhance facial contours.

KYBELLA | price on consultation

Injectable treatment that reduces the appearance of "double chin" fat.

THREAD LIFTS | price on consultation

Procedure that uses dissolvable sutures to rejuvenate and lift sagging skin.

Evolve Tysons is dedicated to providing cutting-edge technologies in conjunction with exceptional medical professionals.

We offer a comprehensive range of treatments designed to enhance and revitalize your natural beauty.



VITAMIN B12 ENERGY BOOST | \$25

B12 shots as part of IV vitamin therapy, can help to fight fatigue, promote weight loss, boost metabolism, and impact energy levels.

IV THERAPY | \$250

A fast and effective treatment that delivers fluid into veins in the body to ward off sickness, prevent premature aging, boost immunity, and much more. A specialist will review your medical history, lifestyle and wellness goals to create this customized cocktail of nutrients just for you!

Weight Loss & Management

SEMAGLUTIDE FOR WEIGHT LOSS

This comprehensive full-body scan measures weight, muscle mass, fat mass, water percentage, and more. This service is included as part of the Weight Loss Consultation, or a-la-carte for any patient.

InBody Body Composition Analysis | \$75

WEIGHT LOSS CONSULTATION | \$150

During your initial visit, your provider will assess your medical history, lifestyle, ultimate goals, and the program overview. This visit also includes the InBody Body Composition analysis.

One Month Program | \$675



DEEP TISSUE MASSAGE

Eliminates stress and relieves aching muscles.

90 Minutes | \$325

75 Minutes | \$275

60 Minutes | \$225

* ADD ON BODY POLISH

Revitalize the skin's radiance through exfoliation, leaving it feeling fresh and glowing.

30 Minutes | \$100

* ADD ON FOOT REFLEXOLOGY

Firm pressure is used to stimulate the reflex points in the feet. Float into deep relaxation for a divine sense of balance and well-being.

30 Minutes | \$100



TED HAIR REJUVENATION

An ultrasound-based system that uses sound waves and air pressure to enhance the penetration of a powerful topical hair growth formula into the scalp and/or eyebrows. This combination is designed to increase blood flow, optimize scalp health, and stimulate hair follicles to produce thicker, stronger, healthier hair.

Scalp | \$1000 Package of 3 | \$2750

Eyebrows | \$350 Package of 3 | \$900



HAIR REMOVAL/REDUCTION

Safely and gently eliminates unwanted hair.

	One	Package of 3	Package of 6
Full Face	\$350	\$900	\$1600
Upper Lip	\$100	\$300	\$500
Lip & Chin/Sideburns	\$200	\$500	\$800
Eyebrows/Ears	\$200	\$500	\$800
Fingers/Toes	\$200	\$500	\$800
Upper Back	\$300	\$800	\$1500
Under Arms	\$200	\$500	\$800
Bikini	\$200	\$500	\$800
Full Legs	\$450	\$1000	\$1400
Partial Leg	\$300	\$700	\$1000
Neck	\$200	\$500	\$800
Forearms	\$250	\$500	\$800
Full Arms	\$400	\$700	\$1000

TATTOO REMOVAL

Using the latest and most cost-effective, laser technology to dissolve the ink in the top layer of the skin's surface. 8 - 10 treatments required.

Small | \$225

Medium | \$300

Large | \$400

OPUS (SKIN RESURFACING)

Opus is the ultimate non-invasive RF platform for skin, resurfacing and face tightening. Opus plasma helps treat conditions like fine lines, wrinkles, loose skin, dark sports, hyperpigmentation, rough skin, texture, dull, complexion, uneven skin, acne scars, etc.

Full Face \$1000	Package of 3 \$3000
Face & Neck \$1500	Package of 3 \$4500
Around Eyes \$1000	Package of 3 \$3000
Neck \$700	Package of 3 \$2100

LASER FACIAL (CLEAR LIFT)

An innovative dual light therapy that stimulates the skins production of collagen. Clear lift is a gentle way to resurface the skin on the face and neck. We recommend that you repeat the clear lift laser, every two weeks to get the most out of your treatment, Regardless of how many session sessions you plan to have.

Full Face \$350	Package of 3 \$1000
Neck \$350	Package of 3 \$1000
Face & Neck \$500	Package of 3 \$1350

MORPHEUS8

A new, innovative, safe, and minimally invasive solution to damaged and aging skin. The fractional skin treatment targets, deeper layers of the skin to stimulate collagen production, revealing a more radiant, youthful appearance.

Face \$1200	Package of 3 \$3600
Neck \$750	Package of 3 \$2100
Face & Neck \$1500	Package of 3 \$4500
Eye \$700	Package of 3 \$2100
Face, Neck & Eye \$1800	Package of 3 \$5400

★ ADD ON RESURFACING | \$1500

Package of 3 | \$4500



DYE VL AND DYE SR

Advanced forms of intense pulsed light (IPL) energy for the treatment of sun damage, Age Spots, freckles, uneven skin, tone, hyperpigmentation, thread veins, rosacea, broken/spider veins.

VI Peel

VI PEEL ORIGINAL | \$350

For tone and texture.

Package of 3 | \$900

VI PEEL ADVANCED | \$420

For enhanced collagen stimulation aging skin (Ages 40+), fine lines and wrinkles, loss of elasticity.

Package of 3 | \$1000

VI PEEL PRECISION PLUS | \$450

For skin discoloration, hyperpigmentation, sun damage, melasma, post inflammatory hyperpigmentation.

Package of 3 | \$1200

VI PEEL PURIFY | \$450

For active acne, breakout prone skin, oily and congested skin, teen acne.

Package of 3 | \$1200

Body Contouring

EMSCULPT NEO

Advanced body contouring device combining HIFEM+ radio frequency for muscle toning and fat reduction, sculpting with non-invasive technology. It is a great way to gently and effectively reduce fat in targeted areas of the body.

Abdomen \$1000	Package of 4 \$3400
Buttocks \$1000	Package of 4 \$3400
Thighs (per area) \$1000	Package of 4 \$3400
Triceps and Biceps \$1250	Package of 4 \$3550
Calf \$850	Package of 4 \$2900

VI PEEL PURIFY WITH PRECISION PLUS | \$450

For acne and acne scarring, acne with hyperpigmentation, and excessive oil.

Package of 3 | \$1200

MORPHEUS8 BODY | \$1500

First and only FDA cleared technology to provide deep subdermal adipose tissue remodeling.

Package of 3 | \$4500

For your convenience, a 20% service charge in lieu of gratuity will be automatically applied to final bill. Prices and services are subject to change without notice.

Evolve Medical Aesthetics and Wellness Center 8212 Old Courthouse Rd #B Vienna, VA 22182

> evolvemaw@gmail.com Spa: M - Sa 10:00 am - 6:00 pm



EVOLVE MEDICAL AESTHETICS AND WELLNESS CENTER 8212 Old Courthouse Rd #B Vienna, VA 22182 (571) 378-1880

evolvemaw@gmail.com

www.evolvetysons.com

